1.

Accessory — Recovery Side Wing Tracks
Bracket

Congratulations on the purchase of your
Australian made Wedgetail Roof Rack
accessory.

ITEM | PART NAME QTY
NO.

1 Trax Plate 2

2 Angle Bracket 2

3. M8 X 20 Bolt and washer 8

4, M8 Flat Washer 4

5 M8 Nyloc Nut 4

6 M8 Channel Nut 4

Please follow these instructions to ensure
correct fitment.

Assemble the Trax plate in the top of the angle
bracket using the M8 Bolt, washer and nuts.
Refer to the diagram.

WTA-TBSW

2. Assemble the bracket on the crossbar using
M8 Bolt, washer, and channel nuts.

3. Keep a gap of 3 crossbars and then put the 2"
Trax plate on the 4" crossbar.

Refer to the diagram below to identify the
slot to be used for your rack.

WTP-1112 / WTP-1113

// WTP-3615 / WTP-3616
/ e

/
A / 7 WTP-4015 / WTP-4016

g __WTP-1513/ WTP-1813

For Maxtrax Pins
(To be bought

separately)

- _WTP-3315 / WTP-3316
WTP-2012 / WTP-2013 /
. WTP-4216

h -4
v/ L/ N WIP-1412/ WTP-1413 / WTP-1414

/ ., WTP-3015/WTP- 3016 /
/ S WTP-2212/ WTP-2213 /| WTP-2214

COPYRIGHT TRADESMAN ROOF RACKS | WEDGETAILRACK.COM.AU



Maxtrax Locking Pins needs to be
purchased separately.

Thank you for your purchase
Wedgetail by Tradesman Roof Racks

Innovation through Inspiration

COPYRIGHT TRADESMAN ROOF RACKS | WEDGETAILRACK.COM.AU



